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n question below is given a statemen
followed by two conclusions | and 1l
You have lo assume cverything in the
statement to be true, then consider the !
two conclusions _logrther and decide
which of them logically follows h:yond!
a reasonable doubt from the wformation |

iven in the statement. i

tatement : In one day crnicket match, the |
total runs made by a feam were 200. Out
of these 160 runs were made by spinners.
Conclusions : ! ,
.  80% of the team consists of spinners.
11,  The opening batsmen were spinners.

A) If only conciusion I follows.
g[ I both conclusions 1 and 11 follow.

o —

T T — e i s e gl S ——— _—
#
)

If only conclusion [ follows.
If neither 1 nor 11 follows.

anna'%;grjgsi w121 I R,
den f A wea i & faarn man 2
& 7§ I e A wAwe 6 wie o
Qﬂﬁ_ F’ﬁ pa;ml is folded and hed
aAs glj'f;\:nnbciow ir:slh{; qucstiunptl':m es.

From the given answer figure, indicate |
how it will appear when opened.
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In the following diagram, rectangle
represents  government  employecs,
triangle represents urban people, circle
represents  gradpae® and  square
represents clerks., | 41 f
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(A) Tt AT Tl o #
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(C) B Fh mh wdarh AR
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Which of the following statement is true

considering above diagram 7

5.«} All government employees are clerks.

B) All  government employees are

duates.

(C) All  clesks are  government
employees bul not graduates.

{D) Some " government employees are
graduates as well as clerks.

54, T® @ TS "4 A & @ 3l &

e e & | Fas i en v & 7

The figure represents three classes of
youth 10 a village. How many educated
youth are poor ?
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A cube, on whose sides letters have been
wrnitten, 1s shown below i different !
positions as can be seen from different
directions. Find the missing letter.

e
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(D) AR TA 130 (TR

stion given below consists of a
statement, followed by two arguments |
and I1. You have to decide which of the
arguments is a strong argument and ;
which is a weak argument ;

Statement :

Should there be
college /university 7
Arguments :

I. No. This will create a political
atmosphere in the campus.

Yes. It is very necessary. Students
are future political leaders.

(A) If only nrgument I1 is strong.

(B) If both I and [1 arc strong.

(C) If only argument | is strong.

(D) If esther | or 11 is strong.

— i — — i

students’ union m

-
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(A) afe Feet ok 11 o

(B) afg 2l a1 3t 1) v # |
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Question given below consists of a
statement, followed by two arguments |
and Il. You have 10 decide which of the
arguments is a strong argument and
which is @ weak argument :

Statement : Is winning more important
than participation 7
Arguments :

I. Yes, all sports persons are now
professionals who solely depend
upon the prizeé money for their
survival.

[l. No, cricketers in India eamn more

from endorsements than from match
fee.
(A) If only argument I is strong,
(B) If both arguments I and Il are strong.
(C) If only argument 1 is strong.
(D) If neither argument | nor 11 is strong,

e s B 59t
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Five persons Aman, Baman, Chirag, { Direction (Q. 60-62) : Read the following
Dipak and Gautam read a magazine. The { information and answer the questions
one who reads first gives it 10 Chirag |

{ | 4 ~ Unam, Romt, Punt,
and the one who reads last has taken it | Five persons _U
from Aman. Gautam is not the first or § Garun and Nikil own different cars - Brezza,
last to read. There are two Itndl:l‘sl

between Baman and Aman. Find the

(D) ®"

Swift, Creta, Ecosport and Duster but not
necessanily in the same order. Each car has

person who reads the magazine last. different “"%’“@Eﬁ?m‘- White, Black

(A) Dipak g S ‘*h-l Gl Aut ™ s:.?my i the same
) Dipa - SO | @ 3

(B) Gautam T \>% |

er.
X ?E'!Punit owns a Duster but he doesn't own
(C) Chirag elfva b
(D) Baman

i @ Blue or Green coloured car. Neither Uttam
TR | ; o H
‘l\-? e y W R Ecosport. Garun, who owns

= ‘ ,ncnh&fm nor _Ecosport, owns White
5. ﬁﬂmamwﬁﬁf}é Y

coloured car: The one who owns Fcosport

. _jowns a Black coloured car. Garun does not
How many quadrilaterals are there in

. own a Creta.
this given figure ? !

60, TRF M EFR 7
(A) Ften

i
- —

(B) w¥a
(A) 12 @7 ]! IQ/W (D) ’Y
(B) 17 - | What is the colour of Duster 7
(©€) 15 b o e (B) White
{[3} 10 ! (C) Red (D) Green
o 7

S
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(C) #e T ;
(D) e . B, AH geTR g R |

If Uttam owas Swift then what is the
colour of car owned by Nikil 7

(A) Green

(B) Can't be determined.

(€) Red

(D) Blue

Fafafen 4 a sk e wofes & 7
(A) &0 (B) ffar

O 3w i

Who among the following owns
Ecosport ?

(A) Garun (B) Nikil

(C) Uttam (D) Romit

WS avimren 6 Frofofes seen =
e Ht 3 A o o v @ s d

UQNKLDIMYVBXPZEOW
TCFSIRHAG

W wEEn § woR Rl F oamm w
Frafafes an 4 & 98 ey v it
7t A qwm £ i safer o o W
(AR ER ki R e

Study the following arrangement of the
English alphabet and answer the
question given

| i
uQ --DF.%_Y.—V—B—Xj’ZEOW
TC) :%uif 1.2
Three of the following four options are
alike in a certain way based on their
position in the above arrangement and

hence form a group. Which one does not

i T —

ka1

i
i
i
!
:

. ohen 3 wEn e @

1. 3 I Fhera ) 3 S AR |
Ay e | 3l fafea &

(B) ¥ A =id 7

(C) Fama1 s ffgad

(D) &t 1, 1 3t B &)

Read the given statement and the
following assumptions and decide which
of the assumptions is implicit in the
statement. Choose the CORRECT option.
Statement : “Work hard to be successful
in examination.”™ A advises B.
Assumptions :

I. B listens to A’s advice.

Il.  Passing the examination is desirable.
I1l. Hard practice leads to success.

(A) Only I and LI are implicit.

(B) None of these

(C) Only I and 1I are implicit.

(D) AILT, IT and ITI are implicit.

6S. Www_wmﬁﬁ 3Ry
?ﬂa%ii:@v@nzzusn
g%vgsghﬂmm?amm
Eﬁ%ﬁ? gl 135
(€)@ (D) ufa

Refer to the following number series and
answer the question :
729637397739
73939

How many 3's are there that are

132213383

belong to that group ? i immediately  preceded by 7 and
A VXM (B) LNI immediately followed by 9?
(C) YIB (D) SCR (A) Four (B) Three
(C) Two (D) Five
= - i it
206 )
5
- —l
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66. aﬂmﬁmmmmm'u. :
; 3o N2 fau o g I E
T2 A wem ym Hifv . | ﬂmmimhtnﬁ # fam & |l
Find the missing number in the givm‘ o) 2 2wl R | ﬂ‘j'ﬂﬂ-m! |

scricsﬂfnlluw_iﬁiﬁlg the same paitern
21.13.40,. 38 :

13,40, -24.101, ()
(A) =121

e

B 129 v i e e 8 # 7
© us (D) =115 (A) @ (B) =m
(C) o™ (D) #= :
TS - 3neh, R s @ Stud the following information
L : e, i cn‘:::ﬁ.llly and answer the questton given
o o wgA e A srem-wem g below it :

# #e ¥ | Foge H v § daw 2
TR A gen A W A ¥ sieh D
% U e N gew 4 e afes
g B y@E A 9 4w & | fawe 6
T 3 W 9 T A e g A
ﬁﬁwﬁwim@tlmw,

i

]
i

Garv is the son of Sashi. Hari s the
father of Manu. Garv 1s marned to Devi.
Garv and Manu are siblings. Prem is the
brother of Devi. Sashi has only one son.
Rakesh is the son of Garv. Prem is the
father of Karan. Janvi s the daughter of
Manu. Prem has no daughters.

How many married couples are there in
the family ?

wmmmqnt.ﬁzagil | A e D) Thoee

?ﬂ:ﬁwﬁﬂmﬁwﬂmiﬂ 6. mm&mﬂqﬁmmmma
- urnd § 3 11 A ) Fya e

A) A B 3l i 1 & & uromadt § & ¥
) £+ W @ fafea o

(C) 7% (D) 7 9 ; Fﬂﬂiﬂﬁﬁﬁlﬁﬂ!ﬁﬁﬂ

Six books - English, Hindi, Science. ST 0 e L

Computer, Maths and Sanskrit each
contains  different number of pages.
Computer book contains few
than only two boaks.
Conlains more pages than Science book
but less than Sanskrit book. Science
book does not contain feast pages.
Sunskrit book contains fewer pages than
Hindi book. The book, which contains

third lowest pages contains 28 pages.

er pages

English book {1

g, Eﬂaﬁwmh
1 ®
R lmu&hﬁﬁll_ﬁ%im

dr’

(B) A=A 13k Bfgm R
JCr oft Faw awon | fafea R |
(D) uh?lmmiﬁifaﬁal_ \
In ¢ questton  below | '
statement followed by two 1:mgwen -
and 1. Consider the statement and decide
g::;;h ol the gru; &gmmmmna 18 implicit.
ement : Anil advise
Gioa via Mumbg) by trmr?. Sanjay 1o -
Assumptions

How many book(s) contains I Sanjay wants 1o go 1o G
s, i bDO::t }? NS more pages {“M ‘;}"“Fiw’ ndwcgtu{;:ﬁmt
Only assumption I1 is tmphei
(a‘f) Two (B) Four | (B) Il netther I nor 115 implici':.lm‘
(C) One (D) Three () Wonly assumption 1 is impliciy
: : (D) Iboth Land 11 are implicyy
L 9 - e et o e :
""mm—-

QQ6


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON
Google Play

L2, w8 gl & et 07 B w5

W Io* wqME feu m |
£ | ) fon o wuat @ am A R, .,
;\i%ﬁmﬂﬂ #3'". Flui.g Tﬁﬁ fg‘ﬂ i% identify the figure that completes the
Mﬁﬂﬂlﬁ?ﬁﬂﬂ}qﬂtﬂ]’m1*{! patiern :
foo o w3 & forw, v 39w gw fawen | PO
& fafga i 3 s o A fs wdt 2 | : l
YT :
2 wiEmER Al GO )
% 3‘3?&7;} T A (B)
fred ; ] N7 _
. FeEwTd g ah e el Ffi () (D) ava
t73, Fow v wuEl | wragde v 3 wE #

(B FIF 111 3R [V HgHm
(C) =@ 1, 11 3 1V 37am &3 &
gz} & (1) T HIAT 8

fow are given three statements followed
by conclusions. You have 1o take the
given statements o be rmue even if they
appear o be at variance with commonly
known facts, and then decide which of the
r:phclus:omsll logically follow{s) from the
given statements. For the given question,
mark oul an appropriste answer choice
that vou think 1s correct
Statements :
a. No oranges are bananas.
b. Some bananas are apples,
c. All apples are fruits.
Conclusions ; _
. Somw oranges are fruits.

1. AN fruits are oranges.

HI. Some bananas are fruits.

: Some apples are not fruits,

A) Only [ and [1} follow.
B) Only [l and [V follow. ,

C) Onlv |, 11l and IV follow,

W&:
SEAan ave # a09 R H gEH W
el & B & s o freft a6
w5 §%g1 3N Sae & & T v gga #
W 39 R | Uh AGEV # W Som @
gy quei % AR ared sitaas 20 et
s Hrndgsat
fao v e & srgan facifsfea f & BW
mamt 7
(A) S qifd e & Frarnn fremdt
I AR
(B) St aveal &t e 'l et 2
{(Cy 1§ 79 | 17 9 w3 & Ans A’ 20
fepof) wfa 92 1 nfa 2 oo 8
e (D) Pl el fiaemdgfg e 2
Read the given statements carefully and

answer the question : ‘ _
The main reason for vehicles crawling

on ¢ty foads during peak hours are

. w Pr  f L S I B e s B e

D) Only i follows. i increasing number of private vehicles
71. S of% 8 ﬂ:ﬂmg@ma‘»‘lfﬂ&; and double parking which 5 a very
o wreff 31t & 159 w9 & i ko gEl common sighl. A survey reveals that
3R @ 199 6 R ) B HEH I HI9E § ;Eh,icl";e‘:ﬁ"}'f on an average at 20 kmph
: urn ours.
m. !ﬁﬁ # ?jﬁ‘m?t ﬁ'ﬁ*ﬁ g?% Whicﬁ of the following is true according
Eﬂ? :E'm Y g% a7 to the given statements 7
h : ‘A) Doubl ng i iolati
In a row where all are fucing north, Priya (A) tm&z;ﬁﬁf%hg c‘:f’; a violation of
is 15% from the lefi end and Ganma 18 § "
19"! from the nght end. They interchan (B) The naumber of Government
their positions Ram, who sits 2 ) vehicles remain the same. _
from the left end sits at the 5" place to the | (€) Vehicles move at 20 kmph during
left of Priya's new position. Eimﬁ many ; 5 pmto 9 pm.
persons are there in the row 7 f (D) The number of private vehicles have
(A) 47 (B) 32 : gone up.
] L]

3 . i Sl o e iy
W.—u o e i s i
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74.

faferftan vt & AT ﬁwﬂ'ﬂi‘?ﬁa

3ttt f2w o v @y _

I*m;ﬂ!mmamtmﬁqmnnﬁl
ﬁkm:»ﬂﬁﬂ.ﬁiﬂllmsmwﬂl@i
Mamﬁmfﬂihhﬂumum:wﬂt
w sk et wd ko faeaferfea |
e 3 eyt a v J2m R t
Study  the  followmg mimmﬂmmi

carcfully and onswer the grven question -
A word and number ammangement

machine when given an input hne of
words and numbers rearranges  them i
following a particular rule n cach siep. 4
The fotiowing s an illustration of mpul
and rearraagenient

A2/ inpat : sky forwawrd 17 over
come 40 i
wery 91/ Step | @ come sky forward 17
over 95 23 40

fodra =mm/ Step {1: come 95 sky forward
17 over 23 40

95 23

GET IT ON
Google Play

s s @1 sy % w2 fa0 1
8

migeniisan ! w4 # cupboard

fusanpoen B w1et # boardwilk
cuopdansi H wd 2 pullman
fapry v 1 31 “walkoway #1 wwAl R

Here are some words
artthcial lunguage
migeniasan means cupboard
lasanpoch MEans hoardwalk
cuopdansa Means pullman

Which word could mean “walkway

(A) cuopeisel (B) poenforc
(C) poenmigen (1)) lasanpoen

translated from an

¥

76, Frcfefaa vt wefqel #m 8 A

gdr = Step 101 2 come 95 forward €
sky 17 over 23 40 ' g
a4 W/ Step 1V 2 come 95 forward 40 1. 2. ( 5 7
sky 17 over 40 3 =@ 4 Iv=En .4
ufea! @ /Step V : come 95 forward 40 |
over ﬁk‘j 1723 f*‘\.f 5. mm{mﬂ)
©3 9N /Step VI : come 95 forward 40 1 Arrange the following words In 2
over 23 QRY l:? ‘ memjngfnl sequence .
%ﬂ;‘;:ﬂ?ﬁﬁ g e ';:ld'm - 1. Infection 2. Consultation
mﬂ?ﬁwﬁﬂ:ﬂwm’mﬁaﬁﬁil 3. Dector 4. Treatmen!
sEn, Frafefaa v @ fo me @ge % §. Eacire
fera Juge amm &) 71 &
: machine hire for 19 agamst K5 21 46 § yl-ll“-i (B) 3.2,5. 1.4
oz o 8wk @ e R ¢ ; ) 1,3.452 (D LAAAS
Step VI s the last step of the
rearrangement of the above input. fzu no wed) w1 auiEn & srafiem &t o
As per the rules followed in the shove e it 33 A ez TR

steps, find out 1n the Tollowing question
the appropriate step for the given input.
ut : machine hire for 19 against 85 21 46
ich of the folowing wili be step I 7
(A) egainst 85 machine 19 hire for 21 46
(B) Fuifra =81 fan = g R/

Cannot be determined.
(C) against 85 hire machine for 19 21 46
(D) against 85 machine hire for 19 21 46

L —— g

(C) Lore

Arrange the given words 1n alphabetical
order and seiect the one that comes In
the middie (

gl 5

(A) Comm —

(B) Count
(D) Code
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78. wmfdmtwmmm rm:;fam waai, ' 79.

(B) satisfaction  1s

(C) every  nrgamsation

s & gafa s g, wfes mf &

Wﬁwtﬂﬁmmmm.

A 2 | wn A & gEvwEn s 4
Hhﬁ&ﬁm:’rimn'qgaﬁ!_)ﬂrm
3 warfa & sra) & wafy fe gmi #
arg A R

GET IT ON
Google Play

afg 'Hlm $' "'la'!jrd ALINE

& ‘ﬁle+ﬁ1{4m,ﬁ
aﬁﬂnf'ﬂ?""is:! 4~ RETHA TR 7
[+ means '+, " means """ meang
« and ‘=" means '+ Based on lht“«:
iformation what s the value of 27 5 9 4

2 3—’?.3";4,5.-

ti
ﬁ“‘” s v B

= Tirez fen wun w1 mAE wem qudA |

E il

L

(A) Foh & wnfy v goha & ot ge,

333 &1 sravman 8 fafA o 2
(By =7f2 v% wufverd smzas 20 2 |

(C) % 7724 § =8 afa € srarasa |

sAFgFra A ¥ |
(D) A A Al v g w@w 3:‘71
FE g gafys #

'
!

Satisfaction with co-workers, promotion

opportunities, the nature of work and
pay goes with high performance among |

those with strong growth needs. Among

y

those with weak grawth necds, no such °
relationship 15 presemt and in  Jact, ‘

satisfaction with promotion opportunities
goes with low performance.

This passage best suppons the statement
that

and performance 15 moderated by

growth need.
an inevitable

organisational vanable.

e e

(A) relationship between job satisfaction

L]

82,

has few !

emplayees having weak growth need.
i

directly and closely related.

(D) job satisfaction and performance are |

mmmt;ma&l
af &3 % fow a2 e ) wmm g
gz q1fE0 7

The following cqualion Is mecorrect.
Which two signs should be inierchanged

to correct the equation ”
1/14°30+20-10=12

(A F. L) e

(C) -, (D) *+',

frcfafam w3 4, ATER U ATHA (X)
# i 2, Fas ar = Y it

v g # i # f5 T A v § AT
(x) #f=fza | 8 AwfEEE AR A
q mEn, FaAd A (X) T A

g

In the following guestion, you are given
a figure (X) followed by four alternative
figures such that figure (X) 1s embedded
n one of them. Trace owt the alternative
figure which contains fig. (X) as 1s part.

/

(X)
TR N
AR ®) |

B o
L

™ fag= %1 94 1 f2v mo a6 2dw
ofa & famzm aurg @

Choose the alternative which closely
resembles the mistor smage of the given

combipatson

TARAIN1014A
(A} ATOTBUIARAT (B)-AbI Ot MIASAT

(C) ARTOLMIARAT (1)) ATOLRMARAIT

il -
— e o T T ——— e it i s e

el v o - -

»

12
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2 X afmmw: ), drea, o,
Y ; T H] WA A NE A aan #
i HETAT A 91 & o Fga 2 1| 79 GWW AH @ Uw A A /A M- HAT

(A) 32 9F oferm 21 gema & foo wr | ¢ fodf @ o A '
! ; g ym & #, Afew 7= 5
(B) :’;ﬁi:’g F«—gﬂm e v i fsfiggin I Fm® =1 AfeAm & wm
*ﬁtﬁq%wﬁﬁﬁm’?ﬁ:;amwﬂ% ﬁfua;;‘imqa:
o : s | WA & L L

ic‘ﬁm‘“ﬂ?ﬁﬁaﬁhmﬁaﬂz!ﬂm&mﬁm@

%ﬁ. faemer T | L P ot ) o B ) A A wm AR,
@ IEE | A | { 3 A =i w1 o) & wre Aftem 3 ym & R ) R

agst\l:e Ijni‘:’lowm guestion, four rﬁblefﬂﬁﬁ%ﬁmﬁ%ﬂﬁmaﬁmh
ers have Deen given. Select thcimaﬁq@;w#jﬁmﬂhnﬁmﬁﬂﬁl

most appropriate emativ :
answer. PR ’ e as the i Directions (Q. No. 85 and 86) : Study the

While travelling in your car, ceaan ! following information carefully to answer the
persons st ou on the wav aski on | EIVEN gueshons -
Aoy v ey / Karan, Lucky

to take an injured chi ol i en le Jayesh.
‘t;uu ol ., child to the hospital i Mohan, Naresh, mgnff-¥ i%-;h ha‘_t? t;::anem:l
(A) ask them to fi ic { a seminar on seven different days of the same
(B) get out n? Ilhr:‘ gr" ti': ;r:ic'mmc | week starting from Monday and ending on
other persons to help to take the i Sunday, but not necessanly in the same order
child 10 hospital. : g“ﬂfl;ﬂ S 1 ik & S-S, Wednesday
. | one o attend a seminar
() askn :}1:3; ;:‘nleme your way and : mm_m%{an? Plﬁaknfirhdkt esh attends &
: e . ' seminar immediately after ;
(D) immediately take the child to! The number of people who have to attend a

hospital. | serminar before Jayesh is same as who have to attend
frafefEa wwa % sn awnfas 3w few o ; amm%h-mmhmmm
seminar between Lucky and . Om has to

£ | 3 & w9 1§ gaitts 39w fases &1 .
iy R ¥ o T e
W@#m_%ﬁw_ 213_'31—! i Y ETR 7
ﬁaﬁﬁ?_ﬁ.é PR TyE Uh EUEE L, (B) AR
AR e Q) (D) 7fFEm
) SR farai 3 faei w73 3 TS | pae On b
= ¥ wmw 4 gun  fau I wiml ) g:mﬂtlﬁlx'enfnl::t:gllnwﬁna‘? e

NEIEL)! = (A) Thursday B) Wednesda

(B) gﬁ?ﬂmﬁmﬂﬂi. ' }Ci Sunmdn}'} :D}) Sampday .

(C) aTfesfirs smae! sprAr e o ¢ lﬂﬁ- & i sqmen % g, Frafafen swd |
D) TEr=a & Faa | i #= v fafven ot @ wod # i gafen
o the following question, four m:bablc | v wqe ¥ # | Friefam 1 A9 H

answers have been given. Select the most | a9z & Haiud TR

appropnate alternative as the answer. | (A) Fo-Hwa (B) FAT-

ou are interviewed for a new job. !

Which of the following questions is most | (C) gEA-IpFan (D) W -

important to you As per the given arrangement, three of
EE?OScope {:’oydevelop %our idrf;s andrﬁ : Elmrcd @ormg four are nht\*c't:l t;xl C“c:nn:r“‘ ﬂi
mpl'o i onan a . C C
‘t}bem it?n:ion. (i~ ! fc:lm;r‘ing cl;\rcs“nmg;ong to the group ?
f the given are equally important. § ) Naresh-Monday
‘gi ﬂen?unm%vun will be paid. | }g) ﬂ{,ﬁﬁ:ﬁfﬂ‘f‘t‘. ¥
tD Opportunities for promotior. l }Dg o Sundny;_mm_ _ |
B 13 QQs
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r G ’ _ .n_ | #
- C'?t ¢ t—p— f - <\
g Y s Fot @ v 192 3V A
ﬁ!ﬂ:mﬁmn'ﬁﬁ%ﬁqmﬂ %,,'m,\awﬁm:n:fmﬁrm!r
yvayaa w1 3t uvat & I d -hgra’nafmrilzia»rﬂ'nh
_ amfm A, B, C, D, E, F 3G us @ o ogd 6 s Pt B
A it 3 A i 43 A, awt 7 B C % e A g fAft o @
AR D, F &z A aEmakic, e i 6, Py
ﬁgg}mmhrz.l.ltmiﬂﬁlﬂ B , fae®G & zfam A 14 freft a7 2
TR 3 H & 6 farh opd A g R s
' 6 faht ) g qft w3 4 | w2 AW R, @

: Smudy the following
the questions that

Seven (o \"\."D. E, Fand G

g facing N_urﬂm
necessarily in the same ordr, 'l;%nfd )
nght of F. C is second 10 lefof G. E is
second to the right of D. B 1s 1o immediate

night of A. %0 @l

87. BEzAAAREA w7
Who s sitting third to the right of B?

B

ax fsed g o fag € @1 afam, s A
g1 e (o w7
(B) 159 faaz

(A) 180 faae

C) 120 faz iD) 115 forrz

ead the given mstructions carefully and
answer the gueshion :
Point B 1s 7 ki to the west of pont A.
Point C is 12 km 1o the south of point E
Point A 1s § km to the cast of pownt C.
Point D is 8 km to the north of point C
Point G 1s 6 km to the west of point D

Point H is 14 km to the south of pomnt G.
ﬂlg 6 km to the cast

If Shubham s standi
hour o complete

of point H and takes

(A) D (B) G & poim s . o
. m distance then in what possible time
4 ¥ a M E i hlfo wm'lld rcag?hc?’:nnl E, '?;”) ::Iikcz lthc
88. fr=fafea d aﬁqmaﬁmﬁwgﬂ shortest route | _
N : A) 180 minute (B) 159 minutes
¥ sifam or w &3 & ¥ 5@ &1 @ gl C) 120 minute: D). l‘l:‘sllgrnnﬂbxtesb
7 9I. !m;k pi # Qa2 fea k| g
Which of the following pairs of people ), [ii) Q. IJT : 4) 3% (5) I ﬁ
correctly represenis the people sitting at A (a) 3I’lt~fh}3|iﬂﬂm e T 2 | 5
extreme ends of the ine ? ﬁﬂ@mﬁmﬂmm
(A) FG (B) EF FRPRA (c) 3 (d) 9 0 HEH Y w1 H
(C) FC (D) GC maﬁ{wmm:
wing question consists of two sets
89. af zfew-gd I & @ I fEw of maxigqmls (@), (b). (c) and ()
constl em set while hgures (i),
g-‘ﬁﬁmﬁ;ﬁ! “:H::WE 2). (3).(4) and (5) constuie the answer set
_ affan IS a nite  relationshup  between
VI figures (a) and (b). Establish a_sumilar
fewn wn wpft 7 :mxmhup mm';-m figures (c) and (d) by
8 m-ofim  (B) IEw-ufrm saﬂmmw;uﬁ:repl}:cg qu&cgzr?mmmm?
(C) I-gd (D) zftm-qd LLi) / Problem Figures
If South-East becomes North and South i HELEE
becomes North-East and all the rest Rl 0 (S AL
directions are changed in the same (@) (b) (c) (d)
manner, then what will be the direction IR ARHRAT /Answer Figures
ﬁ)rwe“? E"HEJEJEE!E'EIEIFB
(A) North-West  (B) South-West 5:1:3 @ 513 alle 5| &
C - E 2 U T T
e
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92. TR 400 a9 & whr) w1 29af fa favereht | o@D W va w73 3 2w | s 1] fewom

93.

N R

How many times does the 29™ day of the

month oceur in 400 consecutive years ?

(A) 4417 (B) 4800

(C) 4497 (D) 4477

ITTH U WA 3R 3 Fe | a1 feo |

| o 7w ghfeea & fe

wA A fom a2 wva @ T 2 &

fo it

W : $F F e fanh feacht gd 2

HYq

1. &% 3 3mmg A #) 8000 wEal ¥,
frd s Nzt

In. ;«Mﬁﬁimmm!ﬂj
¥ -

(A) 11 e 93w R sl | sen win
TER

(B) M1 M3 Iwiwe )

(C) 1 3¥%en vafn @ 7l 11 s@en gain

YoadiR

(D) 1 3 11 2 gata &)

You are given a question and two

statements numbered [ and Il. You have

to ensure whether the data in (he

stalements are sufficient to answer the

question.

Question : How much was the total sale

of the company ?

Statements :

I. The company sold 8000 units of
product A each costing T 25.

11. This company has no other product
line.

(A) 1 alone is sufficient while I alone is
not sufficient.

(B) Neither I nor Il is sufficient.

(C) 1 alone is sufficient while II alone is
not sufficient.

(D) Both 1 and 11 are sufTicient.

£yt ar gfafea wen R & @

Al o fem mn 2 v w0 oI A F

foru atn R

W : 379 49 fhed w3 e 7

Y

I wa st o waa 7 e R

1. Fuffa seam 12:30 6@ 2

(A) 11 37Fen qafm R wafE | wwen @i
TR

(B) A Al noam R

(C) | &en vam & wafs 11 w@en Tain

e TR

: @;mmuma.
You are given a question and two
statements numbered | and Il. You have
to ensure whether the data in the
statements are sufficient Lo answer the

question.
Question : What nme did the bus leave

today ?

Statements :

I. The bus normally leaves on time.

Il. The scheduled departure 15 at 12:30.

(A) Il alone is sufficient while | alone 1s
not sufficient.

(B) Neither | nor Il is sufficient

(C) I alone is sufTicient whtle Il alone is

not sufficient.
(D) Either | or Il is sufficient
95, fou m y=EfRm R & FE #}
qHedafRm % Faa US Rl e
& W1 EA R | AR e v i
Only one meamingful word can be
formed by rearranging the letter of the
given jumbled word. Find out that word :
MUSPQPAPOTIH
(A) PHILANTHROPIST
HIPPQPOTAMUS
(C) METAMORPHIC.

(D) HIPPOCAMPUS o

.

15


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

GET IT ON
Google Play

B ekt TR LTS

90, fr=ifafiga STt & 3w & A9

96. W, 2001 %) f drEl ® EERE P
On what dates of May, 2001 mh

Thursday fall ?
(A) 2,9,16,23,30

few o e @ It Ao
(i) 3BAA,B,C,D,E,F, G, H#%z
aﬁaﬂt£ UHFad A3 E |
.g} (i) AC, DG, HE 3t FB u& *

mﬂé‘im.H&nﬁmT R
|

(B) 4,11, 18, 2§ /
(©) 1,8,15,22,29 1" i) B, H & 2/ 3 z8 Ty o
(D) 3,10, 17,24, 31 S (iv) E, C %37 @ e 8 |
97. PforRe Jrreri 1 ey Siudy b 'thmiﬁ? informati
sttt A fag T 5 F1 IN ' answer the given quesl%nn I:n pe—, -
w Afkm s (i) There arc 8 friends A, B, C, D, E, F, G,
“Diwali &tﬂ : M“ @ ﬁ%ﬂ - H scated in a C"I'C;E fa-ﬂﬂ the center.
Rt . i () AC, DG, HE and are seated
TR 11231 | 716 -~ adjacent to each other. A is also
“Indian festiv: ting” F *ifea ... Seated adjacent to H.
£ a1 £ <62 14" ' !n;BisZ to the right of H.
; ; S0 ilvv E is 3" to the right of C.
%&: mtciestl "E, @114035{1?3' I Hfsd Mi’m (iis 2% (0 the leff of A ?
TATE 6 3612 618" Ayl
“Every moment njoyable™ ® HifEa ¢ (B) C 8l o s ke /
o T & 471 1 i Dannut be determined.
Smdgm lhcd allowing information h-); F
carefully and answer the question given 100, f=fefRas g foa%
below : . y 3 P 3;!; “anﬁigﬂiﬁ?'(;f;g oo :‘g
In a certain code language g Pt o foram 5t 2 ain T g won 2
:?ll;gj; 415,3 :rsnteresting festival™ coded as for ¥ a1 /A frend fafem R / &)
716" YA : ‘fm"':lﬁi 4"@
“Indian festival are interesting” coded as ﬁ&i_l__ ™ E% % ¥ f
612314 512 614" %ﬂ ‘
“All interesting are enjoyable™ coded as . 3
“615314 612 618" | 1. Teete axftrss o w2 |
:Erserg] ;n;m;em sfs enjoyable” coded as i m’gﬁg f‘ﬂ 3R e T F W
18 315™
Preafera & & 6l “315 716 314" ¥ w9 (A 3f Faw Fread 11 F R |
3 e R T & 7 (B) 32 P | 3k 11 21 smor e £
Which of the following is coded as “315 | (C) e %% fawpd | g Fan & |
716 314" 2 . (D) afe, A 4t frwd [ 2 11 FOE )
(A) Diwalis festival ~ DNAY e e o e
N n
(B) All festival are . You have to” consider the statement
(C) Festival is interesting aﬂ’d both the conclusions and then decide
(]\)){D“va“ 1S jnlemsﬁng I‘;E';E]:“?f the conclusion/s s j are
98, 11:10 Wud F 52 £ Eﬁ 3 forqe ) 11# Statement : Detergents should be to
clean cloths.
- & i &1 g v 1 i ) Conclusions :
Find the large angle between the hour } i De:ggcmg fgi:m more lather,
hand and the minute hand of a clock at | " and dﬁ'fl:mb ¢lp to remove grease
11:10. f A) If only conclusi
(A) 287° (B) 275° B) 1€ Both omuchies | ok s Eotlow.
(C) 240° (D) 29¢° ' g {E On,l'i; conclusion ! foflows,
& J neither conclusion I nor 11 follows.
| COXI o 1Ky, 16 S e
T 5 k6D .@
(1D
L7, A
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A A / General Awareness
101. Prafefa 3 2 fem sfufmm & 2m, izz.m frfafen 4 @ @@ @ faam & AW

w2m 5 3 95 % g =ap #7159
e @ i 7

(A) 1813 ¥ 9187 rfufem

(B) 1833 &1 9rét arfufyam

(C) Tizw 3fem »fufmm, 1784

{D.L 1853 &1 92 wfufaan

By which among the following Acts, the
East Incha Company lost its monopoly of |
trade with China 7 i
(A) The Charter Act of 1813 i
(B) The Charter Act of 1833 :
(C) Pitts India Act, 1784 |
(D) The Charter Act of 1853 i

frafafes 8 @ s @ o5 gt fees
FIEMR 7

(A) T B) =3

() faga (D) wTaREiE

Which of the following is an example of
an operating system 7

(A) Excel (B) Word

(C) Windows (D) PowerPoint

fro= i &3 4 fm efgare ome=si

# v 7 A aren TE-wHER

fFafafgadiasat?

(A) T 99@ 3WaTTa

(B) WETHHAR- HATEHeH AgusH fad

(C) wuaTg T¥ty U= ]

(D) =+ TP IU=

Which of the following 1s a riverine

sanctuary having the largest population

of Ghanal crocodiles situated in a In-

state protected arca 7

(A) National Chambal Sanctuary

(B) Achanakmar-Amarkantak Biosphere
Reserve

(C) Bandhavgarh National Park

(D) Blackbuck National Park

- e R T TR S e

i 108,

106.

107.

oAl @ mad wpel M AR 4
mrafE 3 A A R - i R 7

(A) mEIEAen  (B) fAER

(C) Trgd #2 (D) ST F2
Which of the following is the most
important and biggest cultural as well as
thanksgiving festival of the Mara trnibes
of Mizoram ?

(A) Lyuva Khutla (B) Mim Kut

(C) Pawl Kut (D) Chapchar Kut

e AT ogEwe g #
it o o |

(B) TR

(D) Z=0

language was used
________ generation of computers.
(A) third (B) first

(C) fourth (D) second
aem g w7

(A) 71 e (e 3 w=d)

(B) 2WTa (vfrrs ArETem i)
(C) wmiugi (wwefta o)

(D) T=dl A

What is the State Bird of Telangana ?
(A) Son Chiraiya (Great Indian Bustard)
(B) Doodhraj (Asian Paradise Flycatcher)
(C) Palapitta (Indian Roller)

(D) Hill Myna

z9 1 o wAl &) wdien % oo gemeam
wfefa = e emmn m 2

(A) Tt Javfi S

(B) Fwedl qad| ®TF

(C) T wrgEEal f FHE)

(D) fFenh ar A Haftm w13

Subramaniam Commitice was constituted
to review which laws in the country ?
(A) Environmental laws

(B) Population related laws

(C) National Curriculum Framework
(D) Laws related with Western Ghat

(A) dtafi
(C) =efi

Assembly in
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108, fir 10 3 ifrat @ g A T T F03 A wem Vit da ey ;
- ﬁ mﬁ' W ey

T e ] e
1 (B (A) T (B) g

e

(A) T e .

(C) F& (D) WETE (€) T’ (D) e

Wiioh stesc_ e ﬂnnmnce?u pl;?zicif: Who among the following was the firy
Bhakti saml to usc Hindi for the

install  automatic  SITEns
elephants from accidents T

(A) Madhya Pradesh (B) Odisha
(C) Kerala (D) Maharashtra (A) Kabir

109, 7§ 2023 % fom Profefga aafea 8 | (C) Dadu
& forg “w G wE o vAfLEen, YA |
e 38 Fraferfaa 3 @ 58 70 wneh @

propagation of his message ?
(B) Tulsidas

{D) Ramananda

L S ———

R.ﬁhﬂaﬁﬁ"zﬁq?? 3"3_

(A) fava Tz faa= ? dafua i ?

(B) farea wreren feam «? &) Ny i .

(C) fava 7 tvam feaa ;

(D) e wames feaw g (C) WA (D) Tl

“Measure  Your Blood  Pressure ; Gandak river is associated with which
one of the following river systems ?

Accurately, Control I, Live Longer” is °
the theme for which among the following :
days for year 2023 ? i (A) Indus (B) Ganga
{A) World Obesity Day ! (C) Brahmaputra (D) Godavart
(B) World Blood Donor Day ]
(C) World Hypertension Day i
P14, “viren-3 frem”, Ford vt % dieaued wES

(D) World Health Day

110. @tmaﬁ%mmai o e, fpm it SR A g R 7
mmmmmm} (Ay Fume (gifoas g )
%) S 2 — it (<7 Fore 2 wEfiReEm)
(C) 7T (D) a7 ;o (O FE (RE WEfew Uz d@m
The Balcony like structure that 5 wgfufigem)
represented the abode of Gods, above the (D) TR (AT TR UERIEer o)

semi-circular mound of Stupa is called

{A) Harmika (B) Chhatri “Proba-3 Mission”, which will be

i
(C) Anda (D) Yasht | lsunched aboard ISRO's PSLV, is
111. ¥RA ¥ Ha8 ¥31 73 vEATEn v 5ie associated with which space agency 7
grd' wal garar FEm 7 ' (A) ESA (European Space Agency)
) = (B) fermare i (B) CNSA (The China National Space
(©) i'TE[F (D) HEqrar Administration)
(C) NASA (The National Aeronautics

Where will India’s largest tunnel

aquarium "Aqua Marine Park” be built ? and Space Administration)

e T R P —

(A) Chennai {B) Hyderabad ; :
IC) Beagahts (D) Abmedsbad (D) JAXA (Japan Aecrospace Exploration

.o OO o isaisesiisros oG, PO .| . . | SRR o
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115, O RS I owafer & e o, e’ s zen fFR TR E g EIR
fraw &% & ® § &1 Fw@ 2 f (A) A (B) HEWTR
(A) TinSus & (B) wEm ! (C) T T (D) ATy
f} :uﬂ: Deb (D) B EL i t'hnr!sul;n' and ‘Dadra’ are the dance
Ic it Off k : e )
mvestment banker W the'—“ o E fﬁ“;:;;:;:‘*-h htmtlHl Maharashtra
(A) Commercial Banks : -
(B) Government t (C) Ustar P?dj_csh (D) Iamll‘Nldu
(C) Public 120 0. Frafefaa @ A fem wme & wfafes
(D) RBI : 1100 wadtsh (Feam JPaTes @Tad) WA
116. !Sﬂiﬁ#mﬁﬁhmmﬂq A Rrid Qi R 2
g 3 ¥R 5 Y @ R 7 t (A) st frad &= (wrrafiad)
What is the India’s ranking in the latest | (B) g W) R F.\'rm (el
World Bank Logstics Performance ! (C) Qifq 3 fFmm wea gaTe
Index of 139 countries ? wrrd Tz (HTHRCHR)
(A) 23 (B) 101 ! ® M {
- i Whn:h of the following organizations has
(C) 38 (D) 69 !
! been allotted the responsibility of
117, W@ & wfaym € e § fofafea § fa_rmmg the addinonal llﬂﬁq FPOs
PP S E———— i (Farmer Producer Orgamsations) °
I_ - . (A) Reserve Bank of India (RBI)
(A) faeam & =@aa (B) National Co-operative Development
(B) wd 3 3nan ) waww Corporation (NCDC)
(C) Tormm & m=m (& &u:}r.uy of Agriculture and Farmers
(D) il xaeen - L |
: , : (D) Indian  Council  of  Agricultural
Constitution of India 7 *
(A) Liberty of Belief o r?iﬁ SR R 20
(B) Liberty of faith and worship i :
(C) Liberty of Thought E (A) favma w1 7.
(D) Economic Liberty i (B) wuwrera, fRrn i wegmo
: i '
18, Reofen & @ @ e @R @ | (O T MR TRE
(A) A (B) @&, | What is the theme of the International
©) et (D) m Museum Expo 2023 7

Which of the following is not a language
of the Eighth Schedule of the Indian
Constitution ?
(A) Tamil
(C) English

(B) Sanskrit I
(D) Telugu i

(A) Celebraung Hentage

(B) Museums, Sustainability and Well~
being

(C) Art and Culture Showcase

(D) Well-being through Museums

e e T ek S A S B P ——
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o ———— e s 8 o SR
e Frat o 8 T g @ A 7O AR
i ?ﬂﬁéﬁ'mﬂﬂﬁMFﬁI m:n’ﬂitf‘x-ﬂrﬁﬂﬂ
mwﬁﬂfﬂﬁﬂﬂﬁﬁiaﬂﬁ i iﬂ)ww_mw
Mﬁwmwmww i ) 79T grEd - €A
o o o | mwe 4
(© - 8 CISe | which one © the 1o : ‘I“g 15 not
Recently @ ‘t:l}r?:cx::r L:{:nr:::“ ﬂg‘fgl:,d i *7_‘3*‘”‘:',“3' matched with respect 1o dam &
which heun held in Jodhpur. MR L BT o Dam - Mahi River
< iam India and which among of the | (A) Dharot JJat <apn-ris
s courice ” | () Ukai Project - Tapi R
T}ﬂ;;:agj (B) Singapore E {C) Nathpa ihﬂgﬂ <99 Rr}ishm _—
{C Thailand (D) Afghanistan ‘ {D) Nagarjuna agar
“ . ilza.mméarﬁzﬁﬁ%m.ﬁ:ﬁaﬁ
1n.ﬁmmhaﬁﬂmmmﬂaﬁ“¥“§ mz;a;fmwﬁw%mﬁam
wrn &, fa T & wifea B 7

124,

mm{mmﬁﬂﬁ}%.
mﬂwﬁmﬁaﬁnwmg

ek 7 _
(A) 0T (B) W97
(C) WTeYs (D) ERCHTG ;

Which among the following cities (s the
first Indian city fo adopt the locahzation
of the UN-Mandated SDGs {Sustainable |

(A) wmifrs wE  (B) syt W
(D) e

mm fafaea
Shei Ritwik Sanyal from Uttar Pradesh,

who has been honoured with the Padma
Shri award for the year 2023, belongs 1o
which profession 7
{A) Social Work
(C) Medicine

{B) Public Affairs
(D) Ant

Development Goals) ? §

(A) Nagpur (B) Bhopal '112?. mﬁﬁﬁ‘mﬂ%mmm
(C) Bengaturu (D) Ahmedabad | im;alﬁﬁgmﬁﬁwﬁ ?
W e T s & qom 3 (A) BT (B) &t

seafem fran avn R 9 Sl gwTeane (C) frsmm (D) FAfTE

& TH of H@ &, sl w18 7 | Recently, which of the following Indin
S ;mtfs. mtt;ﬂdumd electric trains for the

i i st time *

(oo 1 W2 ) F FTA I (A) Meghalaya  (B) Kerala

FAIR 7 (C) Mizoram (D) Karnataka
(A) 7 = (B) ¥R e 128, f&w o w3 “2 R wh e &0
) dm=w (D) TR H1é ¥ew Taw” wba R R 7

Which  steel 15 produced through (A) 9y

. rou (B) anfem

processes that do not emit carbon dioxide (€) IUEe (D) s

mﬁ:ﬂy means using hydrogen as the
cing agent' (re ' '
bt produ:;stfon? mover of oxygen) in |
(A) Greenstee!  (B) Invar Steel
{C) 53”0“‘ stee] (D) Red Steel

=

20

»?{hn: ch state govemment has Jaunched
¢ Vision for All School Eye Healh

Program” 7
(A) Rajasthan i
(B) Odisha
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129.

130.

131.

132,

=1 &) qod feorn @ g= R )

(A) Fafe (B) genfem
(C) =fta (D) Hiwfers

s rotects the ski 1N
GlirAviolel rays., S
(A) Melanin (B) Elastin
(C) Dermis (D) Oxytalan
Tup, wtew d waifsm wwEm A dom
T W A W T & 50 A R AN
3w wdl fafeerai & wom & foo o
qfEra E )l & Tm d
(A) Hiw fan &z
(B) Wriae =49 $ed
(C) Frrre fam 2
(D) $eEwe fam &2 varm
In the event held at Mysuru, Karnataka, |
PM Narendra Modi launched a project to
commemorate 50 years of “Project Tiger” |
and for conservation of seven big cats.
Give the name of the project,
4X) Conservation of gig Cats
(B) Project Conservation Cats
(C) Project Big Cai
(D) International Big Cat Alliance

awen 3 twm Afy fams sh Gem
wiftstm (PFRDA) & #i&grer & fere
Hftrahem 3my L ahAGIER |
(A) 608 65T (B) 65875 7@
(C) 65A708® (D) 554 60 /=
The government increased the maximum
age for Pension Fund Regulatory and
Development  Authority’'s (PFRDA)
Ombudsman from to ’
(A) 60 to 65 years (B) 65 to 75 yea
(C) 65 to 70 years (D) 55 to 60 years

af 2023 A, *f iz Ia, FEE gEE,

oft & Afvaw 31:; |=
iy ®) 2% F3 & a0 3w o
forg e U9 o= fR, Suwm A AR 7
In May 2023, Shri Bhupendra Yadav,
Union Minister for Environment, Forest,

and Climate Change launched an app to
revolutionize the way individuals and

133, 42 A ford A @wu & SMEA “EW A
Fov." & Praferfaa § @ fea @@ 0
W1 T 17
(A) Wiefta 7 &

(B) wramad G ati frad U8 Frawa
(C) & afq wita FoanA
(D) wteta A

“Sam No Varunah” the invocation to
Lord Varuna written in the Vedas was
adopted by which among the following
organizations ?
(A) The Indian Air Force
(B) Society for Marine Research and
rf“;: Conservation
st (C) Reef Watch Marine Conservation
(D) The Indian Navy

134. vfwem ¥ 3 fefree yam =m0 %
foe 2m &) ggeh F@ F wHR H @Y
mrwatatad, @ s
(A) WA Y (B) WERI Y
() R d (D) B

Axis Bank has launched the country's

first pocket-sized swipe machine for

accepting digital payments called .

(A) Master Pay  (B) Micro Pay \
(C) Mini Pay (D) Macro Pay

135, Praferfea § @ ¥R @ iuea 7 33 I
R 3 UF qHg Hew wt o} s s
arefamf AT frad # aem T FE R 7
(A) & wEe (B) At T
(C) SEENH YA (D) & REAF
Which of the following phenomenon 18
raised when a Member of Parhament
fecls that the proceedings of the House
do not follow the normal rules 7 3

communities track their ress in the (A) Crossing the fioor
global mass movement, Wi t is the name (B) Calling Attention Motion
of the app ! - (C) Point of order
DEEKSHA s
fé)) gfaha':- fg; ;vlcn‘ LiFE (D) Yielding a floor
| 21 Q0
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IS — seprmpsPm ooy
‘ s e i @ fa ftfom

gea 3in
ﬂ.?m (B) g ! ma;mmmﬁwmﬁ?
() sy m}’ ! wimi attain g s a‘féﬂ;ﬁ’l D) it
|
:
i

: (B) T8 wHaem
mw’fiaé’mﬁ
Where did Lord Mahaveer S
he treaty of Seringpatam, was signed

knowledge 7 .
Tipu Suitan, Nizam of

{A) Nalanda (B) Anantpur
between

(C) Kaushambi (D) Jrimbht
yderabad and which of the following

lJ?.“fhiﬂR'ﬁqﬁ‘{Fmﬁﬂﬁum*‘ H ;
e b 7 : British Governor General ¢
(A) S s . ﬁ{m Lord Wellesley
(C) Tl ) wallis
~S1deite” is the ore of which among the (B) Lord Corn®
(C) Lord Canning

. ? §
{ﬁx:ﬂ;&“&;:lg s (B) Zinc (D) Lord Dalhousic

(C) Aluminum (D) Silver 142. “F&"( Jgrk)mﬁiﬂ @’ﬂ'ﬁmﬁi 7
I s sieifs md AR SR T | (A) S (B) T

o

wieda # 8 7 L () widfmtm (D) T

(A) mm ) {B) é’fmnﬁ-ﬁ The term “Jerk” bﬂlﬂﬂgﬁ to which
(©) HFg (D) i el soot 7

Who is the first Indian to win an R .

T (A) Weight Lifting (B) Judo

individual Olympic Gold ? _r Shooti

(A) Abhinav Bindra (C) Volleyball (D) Shooting

(B) Deepa Malik Iﬁ,ﬁﬁﬁﬂmmmﬁﬁﬁm
(C) Vishwanathan Anand i T 3 wraTn o ?

(D) Niraj Chopra

139, “yEweE & fEl & sem & f (A) o (B) YRRl

Prrferfga 4 & o & e R 7 L (C) I (D) FEHR

(A) 3¥q=de27  (B) ®g=&30 |  The Red Fort of Delhi was built by

(C) =B 26 (D) T8 29 which of the following Mughal rulers ?

:I‘hc_ Ar_t_ich:: for protection of interests of (A) Aurangzeb (B) Shah Jahan

‘Minorities™ is which among the following ? (C) Akbar (D) Jahangir

(A) Article 27 (B) Article 30 : ¢

(C) Anticle 26 (D) Article 29 144, T ®E R wEem qEm gl
140, Prafefan i A s A g Fha za g | ooren 4 4 Red g R ot 7

feraft m{d 2 L (A) TeTeeE el

(A) Firde-thafe T [ (B) 9.%. umw

(B) ¥4 E aed [ : :

(C) Frte-urd wreet | (C) W IATFAst Hiigg

(D) A wd wr e { (D) FFRIATE

E

Which among the following books is The site of Harappa
_ : : was first briefl
written by Kapil Dev ? excavated by which one of the f’nllnwin; ?y

(A) Cricket-Favourite G
(B) One day Wonders s (A) Rakhaidas Banerjee

(C) Cricket-My Style (B) B,'K‘ Thapar
(D) Twenty Years at the top (g) Sir Alexander Cunningham
QQ6 ? g AD) Emest J.H. Mackay
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145, Foot 2 8 @ weh & fom wll R 7
(A) T& 373 o wez ta agg A ol
aia &R & feo wfwg R 1

sﬂrgﬁﬂzﬁmmﬂﬂnm
k|

(C) wardl & qfran we &)
mwﬁrﬁﬂ&mﬂh
() weu-fwtan fumgp R

T #

Which of the following s true for

Kavarai ?

(A} Itis well-known for its prisine white
sand beaches and calm Jagoons.

(B} Kavaraitz has a Mediterranean type
of climate.

{(C) The climate of Kavaratti is simlar
to the climatic conditions of West
Bengal.

(D) It is a capital of Andaman-Nicobar
Isiands.

146, o7 fard waww, 2021 % FFEw, WA §
frafefiga # & fm o # @ FE@ W
ey wE w7
(A) ¥framm (B) I wam
(C) IM 2N (D) wan
As per Forest Report Survey 2021,
which of the foliowing states having &
largest area of forest cover in India 7
{A) Haryana (B) Madhya Pradesh
(C) Unrar Pradesh (D) Assam

147, “fragam arqwen ofag feh W qeR
fywfm yaem R efafgm d da fw @
afer farm = deht w1 R 7
() fomnmafn  (8) Feaf Al
(C) Ay afar (D) fenef ufee
“Vijayanagar architecture is the most
developed example of Dravidian style.”

Which of the following temples is of

Vijuyanagar architecture style 7
(A) Virupaksha Temple
(B) Tirupati Temple
{C) Somnath Temple
{D) Minaxi Temple
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15, e 3 T Sl f 7 e 37

i -
| s s ge gt 3‘**“';
| forgaeetf) 1 A AT - R AN
sftat & Pt o ) s o @ e o
wm R Enfefm O @ @A 8@ AN
sy & Rrrasah w feen DA 7
(A) WH (B) &=
(C) weh (D) &g w3 M
PR [he National Emblem of India consists
R four )ions mounted back-to-back, on a
circular abacus. The fricze of the abacus
| has sculptures of four different animals
i separated by  inlerveming {Dharma
Chakras. Which among the following
animals is not a part of the frieze of the
! abacus ?
{A} A tiger
(B} A buil
{C) An eiephant
{D) A gatloping horse

149, “temfaw” Bofefam 3 @ fem 2 6

uaur R 7
(A) Wgads (B wre
(C) Frecdts (D) wafarn

“Reykjavik” is the capital of which
among the following countries 7

(A) leeland (B} Sweden
{C) Netherlands (D) Latvia

150, ¥R fum ¥3m 2023 ) fadm SRR o,

i@ ¥ Freafeafea 38 s T § wifia R 7
A TFem (@) T
(C) fem (D) T

The winner of Femina Miss India 2023
Nandini Gupta, belongs to which among
the foltowing states of ndia 7

{A) Rajasthan (B} Maharashtra
(C) Bihar (D) Gujarat

v - ad o -
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